Puissances de Dix (G)

Trouvez chaque produit ou quotient.

2,44 - 101 = 6,61 =103 =
7,6473 x 10% = 1,7677 + 102 =
9,9 +10%= 2,81 x 103 =
4,26 +~10% = 50551 x 10* =
41573 +~ 101 = 6 +10% =
4,543 =101 = 3,8341 + 10 =
41+ 102 = 5,638 + 10! =
6,22 X 10* = 4,34 x 10% =
3,6 X 10° = 5,3313 x 10% =
6,4 x 10 = 2,19 + 10t =
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Puissances de Dix (G) Solutions

Trouvez chaque produit ou quotient.

2,44 + 10" = 0,244

7,6473 X 10° =7 647,3

9,9 + 10%= 0,099

4,26 + 10* = 0,0426

4,1573 + 10 = 0,41573

4,543 + 10' = 0,4543

4,1 +10%* = 0,041

6,22 X 10 = 62,2

3,6 X 10° =3 600

6,4 X 10* = 64

6,61 + 10° = 0,00661

1,7677 = 10> =0,017677

2,81 x 10°=2810

5,0551 x 10* = 50,551

6 +10%= 0,06

3,8341 + 10" = 0,38341

5,638 +~ 10' = 0,5638

4,34 X 10%> = 434

5,3313 x 10% = 533,13

2,19 +10'=0,219

MathsLibres.Com




